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QUESTION 1

Your web application requires logic to remember items that a user placed into a shopping cart.
Which two mechanisms should you use to associate that information with the user? (Choose two.)
A. HttpServletResponse objects

B. ServletContext objects

C. HttpSession objects

D. a database

Correct Answer: BC

QUESTION 2

You have an organization that runs both its domestic and international business from the same offices. However, the
organization does not want the domestic side of the business to be able to transact on the international side, even
though they are selling the same material.

How do you configure your enterprise to meet this requirement?

A. Set up the domestic and international businesses as separate operating units.

B. Set up the domestic and international businesses as separate projects.

C. Set up the domestic and international businesses as separate business units.

D. Use data access security to separate what each customer can control.

E. Set up the domestic and international businesses as separate cost centers.

Correct Answer: C

QUESTION 3
You set up an item organization and an inventory organization as part of your customer\\'s requirement.

Your customer has, by mistake, performed a receipt transaction in the item organization instead of the inventory
organization. How will you rectify this error?

A. Perform a correct receipt transaction and receive the item in the correct organization.
B. Perform a return of item and receive the item again in the correct organization.
C. Itis not possible to receive item in the item organization.

D. Perform a new receipt in the correct organization and retain the stock in item organization because it does not affect
any other operation.
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Correct Answer: C

QUESTION 4

Your class requires multiple resources defined, as shown in the following:

B<X000 (|
@FResource(name="aractory",
type="javax.jms.ConnectionFactory"),
EResource({name="a%sssion",
type="javax.mail.Session">

i

Which annotation do you use to group multiple @Resource declarations together for class-based injection, replacing in
the code above?

A. @Resources

B. @Resource

C. @ResourceGroup

D. @ResourceCollection

Correct Answer: B

QUESTION 5

Which execution document is created by supply chain orchestration when a make request is received?
A. Transfer Order

B. Work Order

C. Routing Create

D. Movement Request

E. Purchase Order

Correct Answer: B
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